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'
���,�
�  �+���������#��/
�0�!#.�������+�0��#��� 
1.  
��	!���  5=+ yx   ���:#��%��  X  ���
1��� 
 �.  (0,5)    �.  (5,0)   
 /.  (0,-5)   �.  (-5,0) 
2.  ���:���	!���  5=− yx   #��%��  Y  ���
1��� 
 �.  (0,5)    �.  (5,0)   
 /.  (0,-5)   �.  (-5,0) 
3.  ���:���	!��������#��������:���	!���  023 =− yx  
  �.  0423 =−− yx   �.  0432 =+− yx  
 /.  0432 =+− xy   �.  0432 =−− xy  
4.  ���:����������:���	!�������� 
 �.  632 =− yx  
 �.  632 =+ yx  
 /.  623 =− yx  
 �.  623 =+ yx  
 

5.  ���:���	!�����������!.�����	��#�� 

 �.  xy
5

1
=       �.  752 =− yx  

 /.  5−=y    �.  2xy −=  
6.  ���:����������:���	!�������� 
 �.  1234 =+ xy     
 �.  1243 =+ yx  
 /.  1243 −=+ yx  
 �.  1234 =− yx  
 

7.  ���:����	��#��  623 =+ yx   #��%��  X ���
1��� 
 �.  (0,3)    �.  (2,0)   
 /.  (2,3)    �.  (3,2) 
8.  �����#.����������� ��	!�����"��	��	��#�$%�� 

 �.  
82

143

=−

=+

yx

yx
  �.   

1023

74

=+

=−

xyx

yxy
 

 

 /. 
164

0732
2

=−

=−+

xy

yx    �.   
  1523

7
2

1

=−

=+

yx

xyx
 

9.  �	��#��  52 =− yx  ����	��#��  32 =− yx  !����:������.����  
�. #�����   �.  ������� 
/.  �����	��#������$���  �.  #��������
1�+,��
1� 

10.  
1�  (-2,3)  ���.�����:�	��#��������� 
 �.  1−=+ yx    �.  1=− yx  

/.  12 =+ yx    �.  023 =+ yx  
 


�����	�'*����������� 
 1.  ��������:���	!�����"��	��	��#�$%�����  
 2.  ������$.�� ��	!�������
�+���+�  ����	!�����"��	�� 

      	��#�$%�� 
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�����������+�����,.�/ $.�   
   ���:#��%��  X   %, ���:#��%��  Y   
���
1���  +������.���� 

+��

��!.���%,�$/.   /16/���.$�
���$��+�+��� /  

�����4����!  1        42 =− yx  
              ���:#��%��  X    �!���  0=y  

                                             402 =−x  
                                                      2=x  
�������  ���:#��%��  X   ���
1�  (2,0) 
 ���:#��%��  Y    �!���   0=x  

                                         4)0(2 =− y  
                                                     4−=y  
�������  ���:#��%��  Y   ���
1�  (0,-4) 
 

�����4����!  2        42 =+ yx  
              ���:#��%��  X    �!���  0=y  

                                          4)0(2 =+x  

                                                      4=x  
�������  ���:#��%��  X   ���
1�  (4,0) 
 ���:#��%��  Y    �!���    0=x  

                                             420 =+ y  
                                                      2=y  
�������  ���:#��%��  Y   ���
1�  (0,2) 
 

 

������!  1  ��������D+��	���������	��	�������� 
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'
���,�
�  �+���������+�
1�#��%��  X   %, 
1�#��%��  Y  
1.  ���:����	��#��  623 =− yx  
    $"&��
�   ���:#��%��  X    �!���  0=y  
  GGGGGGGGGGGGGGGGGGG. 
  GGGGGGGGGGGGGGGGGGG. 
 �������  ���:#��%��  X   ���
1�  GGGGGGGGG... 
   ���:#��%��  Y    �!���   0=x  
                           GGGGGGGGGGGGGGGGGGG. 
  GGGGGGGGGGGGGGGGGGG. 
              �������  ���:#��%��  Y   ���
1�  GGGGGGGGG... 
 
2.  ���:����	��#��  1535 =+ yx  
$"&��
�   ���:#��%��  X    �!���  0=y  
  GGGGGGGGGGGGGGGGGGG. 
  GGGGGGGGGGGGGGGGGGG. 
 �������  ���:#��%��  X   ���
1�  GGGGGGGGG... 
   ���:#��%��  Y    �!���   0=x  
                           GGGGGGGGGGGGGGGGGGG. 
  GGGGGGGGGGGGGGGGGGG. 
              �������  ���:#��%��  Y   ���
1�  GGGGGGGGG... 
 
 

3.  ���:����	��#��  1553 =− yx  
$"&��
�   ���:#��%��  X    �!���  0=y  
  GGGGGGGGGGGGGGGGGGG. 
  GGGGGGGGGGGGGGGGGGG. 
 �������  ���:#��%��  X   ���
1�  GGGGGGGGG... 
   ���:#��%��  Y    �!���   0=x  
                           GGGGGGGGGGGGGGGGGGG. 
  GGGGGGGGGGGGGGGGGGG. 
              �������  ���:#��%��  Y   ���
1�  GGGGGGGGG... 
 
 
 
 
4.  ���:����	��#��  42 =+ yx  
$"&��
�   ���:#��%��  X    �!���  0=y  
  GGGGGGGGGGGGGGGGGGG. 
  GGGGGGGGGGGGGGGGGGG. 
 �������  ���:#��%��  X   ���
1�  GGGGGGGGG... 
   ���:#��%��  Y    �!���   0=x  
                           GGGGGGGGGGGGGGGGGGG. 
  GGGGGGGGGGGGGGGGGGG. 
              �������  ���:#��%��  Y   ���
1�  GGGGGGGGG... 
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���,�
�  �+���������+�
1�#��%��  X   %, 
1�#��%��  Y  
 1.  ���:����	��#��  623 =− yx  
     $"&��
�    ���:#��%��  X    �!���  0=y  

                                         6)0(23 =−x  

                                                                   2=x  
   �������  ���:#��%��  X   ���
1�  (2,0) 
     ���:#��%��  Y    �!���   0=x  

                                                       62)0(3 =− y  
                                           3−=y  
                �������  ���:#��%��  Y   ���
1�  (0,-3) 
 
 2.  ���:����	��#��  1535 =+ yx  
 $"&��
�    ���:#��%��  X    �!���  0=y  

                                          15)0(35 =+x  

                               3=x  
   �������  ���:#��%��  X   ���
1�  (3,0) 
     ���:#��%��  Y    �!���   0=x  

                                                                   153)0(5 =+ y  
                                                                                 5=y  
     �������  ���:#��%��  Y   ���
1�  (0,5) 
 
 

 3.  ���:����	��#��  1553 =− yx  
 $"&��
�    ���:#��%��  X    �!���  0=y  

                              15)0(53 =−x  

                               5=x  
   �������  ���:#��%��  X   ���
1� (5,0) 
     ���:#��%��  Y    �!���   0=x  

                                                                     155)0(3 =− y  
                                                             3−=y  
                �������  ���:#��%��  Y   ���
1�  (0,-3) 
  
 4.  ���:����	��#��  42 =+ yx  
 $"&��
�    ���:#��%��  X    �!���  0=y  

                                 4)0(2 =+x  

                                         4=x  
   �������  ���:#��%��  X   ���
1� (4,0) 
     ���:#��%��  Y    �!���   0=x  

                                                                 420 =+ y  
                                                             2=y  
                �������  ���:#��%��  Y   ���
1�  (0,2) 
 
 
                           ��(E*  0���
�0�������$.�  3  ���   
                                       ��'��(��+!.%,�$�,��!��
�%��HI����/���� 
 

11                           12 



 
 
 
 
 
 

 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

�.�������������
 !����
������ ��	!�����"��	��
	��#�$%��  ���!������$.�  ���:���	!�����"��	��
	��#�$%������%�������� 

    �������������:���	!���  0CBA =++ yx  �!���  yx,   ���� 
#�$%��  %, C  ����/.�/�#�$  ��� A   %,   B   �!.��.����'���5����!���  
	�!��0
������+!.��������� 

0CBA =++ yx  

                 CAB −−= xy  

      
B

C

B

A
−−= xy  

                            0���+�          
B

A
−=a    %,   

B

C
−=b  

                     ∴  
 ���          baxy +=  


��	!������
���+!./��  baxy +=  

	�!��0%��%#., ��6����/.�  a  %,  b  

��������� 
 

%��#�!��6���������� 
1.  0>a  %,    0=b  
2.  0>a  %,    0≠b  
3.  0<a  %,    0=b  
4.  0<a  %,    0≠b  
5.  0=a  %,    0≠b  
6.  0=a  %,    0=b  
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 ��(���!  1   �!���  0>a   %,     0=b  

�+�  a   %��/.���$�  3,
2

1   ��  baxy +=   
 ���	!��� 

            xy
2

1
=       ,   xy 3=  

 
 
 
 
 
 
 
 
 
 
 
 
+��	����� 
1.  �	��#��%#., �	��7.��
1�  (0,0)  
2.  �	��#��%#., �	���
�!1!#.�� K ������%��  X  �!���$���$����!��L"��
��%��    
     X  ������	��#�� 
3.  �	��#��%#., �	��
 �
�!1!%+,!���%��  X   
4.  /.�!1!%+,!����� �
����%��  X  
 ��,������#�!/.����  a   /��   0�� a   !�/.�
!��!1!%+,!����
����%��  X  
 !��  %, 0��  a   !�/.�����!1!%+,!����
����%��  
X  
 ����#�!��$� 

 ��(���!  2   �!���  0>a   %,   0≠b  
  1.  �+�  a   %��/.���$�  2  %,   b   %��/.���$�  -2  ,  3  ��  baxy +=  

      
 ���	!���      22 −= xy      ,   32 += xy  
 

 
 
 
 
 
 
 
 
 
 
 
 

+��	����� 
1.  �	��#������  2  �	���������  ������
��	!�������  2  	!���!�/.�  a   ��.���� 
2.  �	��#������  2  �	��  
 #�����%��  Y  #�!/.�  b   -��!�
1�#��%��  Y  ���.���    

),0( b �1��	�� 
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 2.  ����6����/.�  a   %,   b   !�/.��!.��.����  /�� 

   12 += xy       ,   2+= xy  
 

 

 
 
 
 
 
 
 
 
 
 
 
 

+��	����� 
1.  �	��#������  2  �	���!.�������  %#.
 #��������
1� K +���� 
2.  
1�#��%��  Y  ����	��#������  2  �	��  
 #��
1����!�/.�����$���/.�  b    
     -��!�
1�#��%��  Y  ���.���  ),0( b  

 
 

 
3.   ����6����/.�  a   �!.��.����  %#./.�  b   ��.����  /�� 

         2+= xy         ,   24 += xy  
 
 

 
 
 
 
 
 
 
 
 
 
 
 

+��	����� 
 
 �+��$.�  �!���/.�  b   ��.����  �	��#��
 #��%��  Y  ���
1�����$��� 
/��  (0,2) 
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 ��(���!  3   �!���  0<a   %,     0=b  

�+�  a   %��/.���$�  3,1 −−   ��  baxy +=   
 ���	!��� 
    xy −=    ,   xy 3−=  

 
 
 
 
 
 
 
 
 
 
 
 
+��	����� 
1.  �	��#��%#., �	��7.��
1�  (0,0)  
2.  �	��#��%#., �	���
�!1!#.�� K ������%��  X  �!���$���$����!��L"��
��%��    
     X  ������	��#�� 
3.  �	��#��%#., �	��
 �
�!1!�M�����%��  X  �!���$���$����!��L"��
��%��    
     X  ������	��#�� 
4.  /.�!1!�M������� �
����%��  X  
 ��,������#�!/.����  a   N���!�,��(6 /,���   

      

 ��(���!  4   �!���  0<a   %,     0≠b  

�+�  a   %��/.���$�  3,1 −−   ��  baxy +=   
 ���	!��� 
1−−= xy    ,   13 −−= xy  

 
 
 
 
 
 
 
 
 
 
 
 
+��	����� 
1.  �	��#��%#., �	��#��%��  Y  ���
1�  (0,-1)  �1��	�� 
2.  �	��#��%#., �	��
 �
�!1!�M�����%��  X  �!���$���$����!��L"��
��%��  x  
������	��#�� 
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 ��(���!  5   �!���  0=a   %,     0≠b  


 �
����	!��� baxy +=   !�/.�  b   �����$�+�������,������   
��.�	!���#.������ 

1)0( −= xy    ,   5)0( += xy  
  3)0( += xy     ,   2)0( −= xy  
 
 
 
 
 
 
 
 
 
 
 
 

 
 
+��	�����    1.  
 ����	��#������������%��  X  
                   2.  �	��#��#��%��  Y  ���
1�  ),0( b  

 
 

 ��(���!  6   �!���  0=a   %,     0=b  


 �
����	!��� baxy +=   !����	!���  /�� 

           0)0( −= xy  
                             +���  0=y  

∴  ���:	!���  0=y   /��  �	��#��������%��  X 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
+��	�����   ���:	!���  0=x   /��  �	��#��������%��  Y 
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������.��������/ ��������  �����
�������
+�����,.�  ���!��.$����	�1�� /  

	���  �����$������:	!�����"��	��	��#�$%��   
������$�����	!�����"��	��	��#�$%��  /��   baxy +=  

-�����  yx ,   ����#�$%��   
   a   ����	�!�� 	"�&"O���  x  %��/$�!���������:
�	��#��  �����$.�  Slope 
    b   ����/.�/���� 

1.  ���:���	!�����"��	��	��#�$%�������	��#�� 
2.  �"
��6�/.����  a  
     2.1  0��  0>a   ���:
 �
�!1!%+,!���%��  X  �!���$���$����!��L"�� 
     2.2  0��  0<a   ���:
 �
�!1!�M�����%��  X  �!���$���$����!��L"�� 
     2.3  0��  0=a   ���	!���  by =   ���:
 �������%��  X 
3.  �"
��6�/.����   b  
     3.1  0��  0=b /��	!���  axy =   ���:
 7.��
1��
���"�  (0,0) 
     3.2  0��  0≠b   /��	!��� baxy += ���:
 #��%��  Y  ���
1�  (0,b ) 
4.  ���	����#���� K �����$���/$�!���  )(a   ����	��#�� 
     4.1  0���	��#��  2  �	��!�/$�!���  )(a   ��.����  ���:��� 
           �	��#��  2  �	��  ����
 ������� 
     4.2  0���	��#��  2  �	��!�/$�!���  )(a   �!.��.����  ���:��� 
           �	��#��  2  �	��  ����
 #�����+����
1� 
 5.  ���:���	!���  0=y   /��  �	��#��������%��  X   
6.  ���:���	!���  0=x    /��  �	��#��������%��  Y    

�����
���+�����,.�/��������� K 

�����
%,�$������
�%��HI����( 
������$.� 
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1.  �+�����������������:���	!���#.������-�����%��/�.����$���   
      �!���  x   %,   y  ����

��$�
�"� 
     1.1   

x  -2 0 2 
1)  xy −=   0  
2)  xy 2−=  4   

 

 
 
 
 
 
 
 
 
 
 
 
�	��#��������
 ������.����   
#�� GGGGGGGGGGGGGGGGGGGGGGGGGGGG. 

 
   
1.2   

x  -1 0 1 
1)  23 += xy     
2)  23 −= xy     

 

 
 
 
 
 
 
 
 
 
 
 
 
�	��#��������
 ������.����   
#�� GGGGGGGGGGGGGGGGGGGGGGGGGGGG 
 

���=>����.���!  2 
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2.  �+�����������������:���	!���#.������-�����%��/�.����$��� 

                                
44,5

22,2

43

21

+=−=

+=−=

xyxy

xyxy
 

 

 
 
 
 
 
 
 
 
 
 
 
1.  �	��#���+,.����#��%��  y   ���
1������� 
#��   1y   #��%��  y  ���
1�  (....... , GG.)      2y   #��%��  y  ���
1�  (....... , GG.) 
          3y   #��%��  y  ���
1�  (....... , GG.)      4y   #��%��  y  ���
1�  (....... , GG.) 
 

2.  !��	��#������������������ 
#�� GGGGGGGGGGGGGGGGGGGGGGGGGGGG. 
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1.  �+�����������������:���	!���#.������-�����%��/�.����$���   
      �!���  x   %,   y  ����

��$�
�"� 
     1.1   

x  -2 0 2 
1)  xy −=  2 0 -2 
2)  xy 2−=  4 0 -4 

 

 
 
 
 
 
 
 
 
 
 
�	��#��������
 ������.����   
#�� �	��#������	���	��
 7.��
1��
���"�  (0,0) 

     
1.2   

x  -1 0 1 
1)  23 += xy  -1 2 5 
2)  23 −= xy  -5 -2 1 

 

 
 
 
 
 
 
 
 
 
 
 
�	��#��������
 ������.����   
#��   �	��#������	���	��
 ������� 
           %, 	!���  23 += xy   #��%��  Y  ���
1�  (0 ,-2) 
                  	!���  23 −= xy   #��%��  Y  ���
1�  (0 ,-2) 
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2.  �+�����������������:���	!���#.������-�����%��/�.����$��� 

                            
44,5

22,2

43

21

+=−=

+=−=

xyxy

xyxy
     

 

 
 
 
 
 
 
 
 
 
 
 
1.  �	��#���+,.����#��%��  y   ���
1������� 
#��   1y   #��%��  y  ���
1�  (0,-2)      2y   #��%��  y  ���
1�  (0,2) 
          3y   #��%��  y  ���
1�  (0,-5)      4y   #��%��  y  ���
1�  (0, 4) 
 

2.  !��	��#������������������ 
#��  21 −= xy  �������  53 −= xy  
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/16/��/ � ��	!�����"��	��	��
#�$%������%���+�/  

�����4����!  1 
���������"
��6�	!���      122 =+ yx       GGG(1) 
                                            83 =+ yx          GGG(2) 
  � ������� �����$�	!��� (1)  %,   (2)  ����#������
#�$��.���������	���������	��	�������� 

    �+�  edcba ,,,, %,   f ����

��$�
�"����  ba,   �!.����'���5 
����!���%, ������ ������� �����$�	!��� 

                              ebyax =+  
                                            fdycx =+  
 $.�����	���������	��	��������  ���!�  x  %,   y   ����#�$%�� 
 /
�#������ ��	!�����"��	��	��#�$%��  /��  /�.������  ),( yx  
 ���	��/,������	!�������	������ ��	!��� 

���!�'��(�#�$��.������.��� /   

 ��������
!���"������ 

�����4����!  2 
���������"
��6�	!���      4=+ yxy          GGG(1) 
                                            132 =+ yx         GGG(2) 
        	!��� (1)  %,   (2)  ����#���!.����#�$��.����� 
� ��	!�����"��	��	��#�$%��   
 ���� $.�	!������  (1)  2�4:�4	���������	�� 
	�������� 
 

������!  2  ����	���������	��	�������� 
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'
���,�
�  �+����������
��/�����+!��0��   ���� ������������� ��	!�����"��	�� 
                	��#�$%��  %, �
��/�����+!��7"�  X  ���������!.��.� ��	!��� 
                ��"��	��	��#�$%�� 
 

+����! ��� 

1.        
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=−

=+

yx

yx
  

2.        
72

103

=+

=+

yx

xyx
  

3.        
113

25

=+

+=

yx

xy
  

4.        
182

25
2

1

=+

=+

yx

yx  
 

5.        
94

5
46

=+

=−

yx

y
x

 
 

 

 
 
 
 
 
 

+�������
%,�$/.   	�1��.�� K ��/��  � ��	!���
��"��	��	��#�$%��
 #����� �������$�  
	!�����"��	��	��#�$%��  2  	!��� 

��.+�����,.�/ /16/�� 

��.%,�$/   0���������������
%,�$���!�
�
�%��HI����( ���  3  ����,�� /  

�
�������+�����,.�/��� 

35                           36 



�C#����=>����.���!  3 
 

 
 

 
 
 

 
 

 
 
 
 
 
 
 
 

 
 
                   
     ��(E*     0���
�0�������$.�  3  ���  ��'��(��+!.� /    
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�� !��  ����	���������	��	�������� 

 

 
 
 
 
'
���,�
�  �+���������#��/
�0�!#.�������+�0��#��� 
1.  
��	!���  5=+ yx   ���:#��%��  X  ���
1��� 
 �.  (5,0)    �.  (0,5) 
 /.  (0,-5)   �.  (-5,0) 
2.  ���:���	!���  5=− yx   #��%��   Y  ���
1��� 
 �.  (0,5)    �.  (0,-5)  
 /.  (5,0)    �.  (-5,0) 
3.  ���:���	!��������#��������:���	!���  023 =− yx  
  �.  0432 =+− xy   �.  0432 =−− xy  
 /.  0423 =−− yx   �.  0432 =+− yx  
4.  ���:����������:���	!�������� 
 �.  623 =+ yx    
 �.  623 =− yx  
 /.  632 =+ yx    
 �.  632 =− yx  
 
 

5.  ���:���	!�����������!.�����	��#�� 

 �.  5−=y    �.  2xy −=  

 /.  xy
5

1
=    �.  752 =− yx  

6.  ���:����������:���	!�������� 
 �.   1234 =− yx      
 �.  1243 =+ yx  
 /.  1243 −=+ yx    
 �.  1234 =+ xy  
 

7.  ���:����	��#��  623 =+ yx   #��%��  X  ���
1��� 
 �.  (3,2)    �.  (2,3)  
 /.  (2,0)    �.  (0,3) 
8.  �����#.����������� ��	!�����"��	��	��#�$%�� 

 �.   
  1523

7
2

1

=−

=+

yx

xyx   �.  
1023

74

=+

=−

xyx

yxy
 

 

 /.  
164

0732
2

=−

=−+

xy

yx     �.  
82

143

=−

=+

yx

yx
 

9.  �	��#��  52 =− yx  ����	��#��  32 =− yx    !����:������.����  
 

�. �����	��#������$���  �.  #��������
1�+,��
1� 
/.   �������   �.  #����� 

10.  
1�  (-2,3)  ���.�����:�	��#��������� 
 �.  1−=+ yx    �.  1=− yx  

/.  023 =+ yx   �.  12 =+ yx  


�����	�'*����������� 
 1.  ��������:���	!�����"��	��	��#�$%�����  
 2. ������$.�� ��	!�������
�+���+�  ����	!�����"��	�� 

     	��#�$%�� 
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  1.  #��   �  6.   #��   � 
  2.  #��   �  7.   #��   / 
  3.  #��   �  8.   #��   � 
  4.  #��   /  9.   #��   � 
  5.  #��   �  10.  #��   / 
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